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In the circle above, chord AR Is extended to meet the tangent DE atD. If AR

=7 cmand BD =9 cm, find the length of DE .

SWRidd o= |, ofldT 75 &1 W= @l o 9 fAdH & fog fa< D 96 semar ol
g 13 75 =791 3R g5 =9 THl, dl 5F &l ddlg J1d B

Up Lekhpal Previous Year Question 4

A.12 Cm

& B.A63 Cm
C.4 Cm

D.10 Cm




Up Lekhpal /Up Constable Daily Live Maths Classes At 01:00 PM

Neha's Rs. 8000 in 3 years at a fixed simple interest rate of becomes Rs. 9200. If

the rate of interest was increased by 2%, what amount would he have received?

481 &1 3. 8000 I UM U HILd IR 4161 &3 U 3 98] § 3. 9200 8 STl & |
gfe &1 Bl G 2% ¢ SIdl, df 39 fdbd=T AR Wi gidi?

Up Lekhpal Previous Year Question

a) 1s. 9680
b) 2s.8900
c) s. 9800
d) :s.2000
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In one alloy there is 60% steel in its total mass, while in another alloy it is 35%. 12
kg of the first alloy was melted together with 8 kg of the second one to form a third
alloy. Find the percentage of steel in the new alloy when it is known that 20% of

the total steel is get diminished during the melting process?

U 0y 41 H 99 T4 G0HM H 60% Eld g, Sdid 3= [y 41q ¥ U8 35% ¢
Ued g & 12 fHal & ga & 8 fddl & Iy fugeres: dreRT [ 41g - /@

U Ty 1d § ¥Td &1 Uid=d 1 &< o Ug J1d &1 fd [Uae- &1 Uishdl & SR &

T T 20% HH gl 1T 62 Up Lekhpal Previous Year Question
a) 4%
b) 59
C) 8%

d) 0%



Up Lekhpal /Up Constable Daily Live Maths Classes At 01:00 PM

The selling price of an item after a discount of 12% is Rs. 176, If no discount is
given then the profit percent is 25%. Find the cost price of the article.

12% Pl B D dIG (bl 9% B [dehd e 176 YA g, Afc Dls ©9¢ ol al Sirdl
o dl A Yld=Id 25% o | 9% 1 d Ul J1d Do |

Up Lekhpal Previous Year Question

a) s 150
b) s 180

C) < 160
d)

s. 120
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A tree increases annually by one - fourth of its height. what will be the height
of the tree after 3 years, if it stands today at 64 cm height?

U Us Uld ay 39+l ddls 1 UH-dIUTs dedl ol dic AUl U8 &l ddlg 64 THI g,
dl 3 9y dig U & ddls o1 olii?

Up Lekhpal Previous Year Question

a) 32 cm

b) 69 cm

C) 44 cm

d) 25 cm
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The average of marks obtained by 120 candidates in a certain examination is
35. If the average marks of the passed candidates is 40 and that of the failed

candidates is 16, then what is the number of candidates who passe the
examination?

ot odtem 7 120 3rafgl gRT U 9wl &1 3id 35 g afe 3ot spafda)
b 3G 3P 40 © 3R TV RG] o {RId 3P 16 ©, <l URI&T ITI0] HRA
arel i} Bt T 91 g2

Up Lekhpal Previous Year Question
a) 30
b) 5o
c) s
d) s
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An amount of Rs. 735 was divided between A, B, and C. If each of them had
received Rs. 25 less, their shares would have beenintheratioof1: 3: 2. The

money received by C was

735 U B ART I A, B 3R C b did [qUISTd fobam 7 o1 afe 399 3 udd
Dl 25 FUU S [Held dl I9d g DT 3Urd 1: 3: 2 BIdNl C Bl AT I1d D

Up Lekhpal Previous Year Question

a) s. 195
b) . 200
C) s. 225

d ) S. 245
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What is the area (in sq cm) of a rnombus if the lengths of its diagonals are 24
cmand 10 cm?

Uch FHIYS &1 &A% (1 J4I T) 31 ¢ afe I9b fadbull oi wralg 24 ATl 3R
10 941 57

Up Lekhpal Previous Year Question

a) 40
b) o
C) 20

d) so
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In ABC, AB =6 cm and AD is the angle bisector of A. If BD : DC =3 : 2, then
what will be the value of AC?

ABCH AB =6 U 3{RAD, AR DU IHGUNH ¢l e BD: DC=3:27¢, dl
AC ST HIH T SHT?

a) cm
b) ocm
C) om

d) cm
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Each exterior angle of a regular polygon measures 24°. Find the number of

sides of the regular polygon.

Uh qH dgYol & YD eIVl DI AU 24° | JH dgyol I Yol I Il

J1d DI |

18

12

15

20
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What is the compound interest on a sum of Rs. 16000 at 30% per annum for
an year if compounded half-yearly?

af¢ 16000 2T DI A Ub 99 & ferg 30% Ufd a8 Df G & srd-difiler =0 4
IAISTA ©I, Al Ihdls sATSl T 672

a) 500
p) 5260
C) 5160

d) 21160
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a) rational number
b) n irrational number
C) rational number and a prime number

d) prime number

A number 2.35 is:

U AT 2.35 1 572

Uh URHT &A1
Uh HUNHT T3]

U UREY TET 3R Tdh 3HTST T3]

Udh YT AT
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Two trains having same length cross an electric pole in 27 sec. and 24 sec. respectively. Then in how much
time they will cross each other if they are moving in opposite direction.

AT TS & 21 LoRmsr faaTel & U @ & FAA: 27 Ths AR 24 s # qR & g1 a o gay

AT T g H IR FHEN AR @ RAeda Rar & oo @ 2
a)22.6 sec (b)28.2 sec (c)25.4 sec (d)30.8 sec
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Find the total natural number between V529 and V2304.

V529 3R 2304 & §id Bl Dd Wb ldd JAT J1d PIfoT|

o 0w >

22
20
19

. 22
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Raman scored 456 marks in a exam and Seeta got 54% marks in the same
exam which is 24 marks less than Raman. If the minimum passing marks in
the exam is 34%, then how much more marks did Raman score than the

minimum passing marks?

I 3 UD e H 456 3id U fhU 3R Idr = 9aE gdien 1 54% WW
fobu ST I & 24 3{p ¥ 5 | Afc ula T YAdH Il 3fb 34% ¢, dl I A
TAdH I101 3{bl I fba sifdd 3 Ui fdhu?

180

190

184

196
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Three fair coins are tossed simultaneously. What is the probability of getting at
least one head and one tail?

di fef Ridepi 1 U A1y ISTaT Sl el U Y HH UTH o8 3R TP ¢d 3
P Uil 1 82
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A bag contains Rs. 720 in the form of 2 rupee, 5 rupee, and 10 rupee coins.
The number of coins of 2 rupee, 5 rupee, and 10 rupee is intheratioof 5: 2 :
7. Find the number of 2 rupee coins.

Udh &7 720 34T, 2 30, 530U 3R 1030 & RIgdi b =T H g 2344, 5
¥ 3R 10 300 & RGadh] I GWAT5:2:7 F AU H ol 2 300 & Radw| i
IS AT DU

40

80

60

84
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In examination 30% students failed in Economics and 20% failed in History. If
10% failed in both and those who passed in both numbered 600, then what is
the total number of students who appeared in the examination?

TRIEMT H 30% T S7URIRE H 3R 20% g | Sl gUl afe 10% &l |
30l U SR Sl H 3<iivl giF ardl @t ¥ 600 ©, di URI&T H 93+ aid ®Fi
D! Dol JAT [l 62

990

1000

1200

1500
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A man travels an equal distance from P to Q with three different speed of 10

km/h, 12 km/h and 15 km/h. The total time taken by man
IS 45 minutes. Find the total distance from P to Q.

to travel the distance

U Afad 10 fpdi/aer, 12 fehdl/cer 3k 15 fhHl/Aer o d

I Q P FUH &3 dF DRI B 1 8 G21 Dl a0 P 1 3f1ed]
g 45 [BTFT B 1 P A Q dP Dl Hd g3l 1d Difoid |

T A=A T I P
SRI e/ T/ $d

8 km
15 km
12 km

9 km
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A and B can separately complete a piece of work in
20 days and 30 daysrespectively. They worked together
for some time, then B left the work. If A completed
the rest of the work in 10 days, then B worked for

A 91 B Tordlt sh1d ohl 3TTT-3Ta7T Sha9l: 20 T3 91 30
feT o QU T Thd | S84 /D 99T d% U 91 faceny
w1 fohar, aoe=q B & BIgshd Il 01 Afs 99 i
% A 10 Ta 7 qu foan &1, @t B A foraa 9 % =
fem=m?

(1) 6 days / &= (2) 8 days / &=

(3) 12 days / f&= (4) 16 days / &=
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A can do a piece of work in 20 days which B can do in
12 days. B worked at it for 9 days. A can finish the
remaining work in

A TEH w1 20 Tl § X gohar ®, 59 T B 96 & 12
feai ¥ ¢ Hehdl B1 B3 98 & ®aa 9 oAl 9o o,
39eh dI€ A 3 & TR Tl § qU ST wehm?

(1) 5 days / T&d (2) 7 days / T

(3) 11 days / f&A (4) 3 days / f&A
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A train running with speed of 82 km/hr crosses a 250m long platform in 27 sec. Find the length of train.

82 fara/ae # Ty & T TE U {ems 250 A T CTHH F 27 WS A IR Al gl oS P g

Ad HiFA?
(a) 345 m (b)325 m (¢) 365 m (d)385 m
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The mean of a distribution is 11 and the standard deviation is 1. What is the
value of the coefficient variation ?

U [IaRUT 1 H19 11 g 3IR HAHD [d9a- 1 g | (a9 Ui BT A1 1 872

9.09%

11%

%

13%
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ABCD is a parallelogram in which £ADB = 26° and 2BCD = 110°. Find the

measure of the angle £ABD?

ABCD U JHIR Iqysl g foR1H ~ADB = 26° 3{R 2BCD = 110° § | HIUT 2ABD

1 HIY ITd DI[OTE?

44

36°

48°

42°
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Given three numbers, first is twice the second and is half of the third. If the

d

verage of three numbers is 56, then difference of first and third number is

cl

I F=mU €1 715 &, Uedl! Il SRl ST df al THT 3R dRIRT 51 &t 3A1elt B

q

& A S=13fl BT 319d 56 ©, dl Ugall 3R diR 9= & § 3{d? 7 o2

12
24

36

48
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A dealer buys an article marked at Rs.1000 with 10% and 15% discount. He
spends Rs.135 on its repair and sold it at Rs.1200. Find his profit or loss%

U ATART 10% 3R 15% Y & Y 1000 30T 3ifhd Heg TR Udh 93 Tiadl
o1 98 SU®] AHd TR 135 U4 9 Hdl & 3R 34 1200 394 H d<9dl o | IUD]
T 1 1% ITd DT

33.33% profit
33.33% loss

25% profit

25% loss
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The population of a town increases at 20% vyearly. If the present population of
the town is 17280. Then what was the population of the town 3 years ago?

U B D[ o9 H 20% DI g

17280 ©| dI 3 9Y Ugq

e Dl

—

@ fddH

Ei¥,

Vb di sldl o fd G DI IqHH S|

10,000

9,000

11,000

12,000
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The area of a trapezium shaped field is 480 m?, the distance between two
parallel sides is 15 m and one of the parallel sides is 20 m. Find the other
parallel side.

Uh JHAE & PR b Jd DI &AHd 480 HICR?2 B, &l JHHIAR HSII3{ & did Dl
a3l 15 HieR § SR JHMIGAR Yol H I U 20 Hier g | G-I JHHIAR Yol 31d
Diforg|

44 m

36 m

40 m

30 m
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If the ratio of two numbers is 2 : 3 and their LCM is 54. then the sum of the two
number is

e &l HeA1el 1 SHUId 2 : 3 § 3R 34d] dddH JH9de] 54 g | dl Gl
TRSATT BT AN B:

15

45

270
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If the cost price of 9 articles is equal to the selling price of 12 articles. What is
the percentage gain or loss?

gfc 9 93 BT hd Jed 12 I3 & v Yo & aRIaR o, dl Wid=rd ary A
IR,

25% gain
295% loss

20% loss

20% gain
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A pipe can fill a tank with water in 20 hours but due to leakage in the tank in its
bottom, it takes 40 hours to fill the tank. In what time the leakage will empty

the fully filled tank.

a1$9 A 20 He H Udh <l Bl Ol  HR bl ¢ dfbT sdd dd H f&yd Rama &
HRUT Chl hl U T 40 € o1 g | fbd+ I0g I 19 G2 dig I U bl Dl
HTdl HR S|

40 hours

30 hours

60 hours

5 hours
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Find the area of an equilateral triangle whose sides are of length 23 cm.

U JHETG HAYS I &AHhd JTd DTS oD Yoirseil ol ddrs 213 JHl 3|

473 cm?
3 cm

273 cm?

313 cm?
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Find the mode of 12, 1,10, 1,9, 3,4,9, 7,9

12,1,10, 1,9, 3, 4,9, 7,9 &I dgd®d 31d Hifold|

12




Up Lekhpal /Up Constable Daily Live Maths Classes At 01:00 PM
Find the median of 5, 35, 12, 26, 35, 36

5 5.12. 26. 35, 36 P HIfLTDHT J1d DIford

19

12

11

14
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The ratio between two numbersis 7 : 9. If we add 12 to the first number and
subtract 15 from the second number, the ratio becomes 11 : 4. Find the first
number.

&l TATSl & o BT I 7 : 9 ¢ 1 Afe gH Ugell TwAT H 12 Siisd & SR gl
I A 15 °CTd &, Al 3UId 11 : 4 8l SIIdl & | gl AT JTd iU |

14

27

21

18
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Find the roots of the equation x? - 22x + 105 =0
x2 - 22% + 105 = 0 FHIHR0[ &b T J1d Hiford

15,7

13,5

11,13

4,8
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Pratick spends 45% of his salary on food and transport. Out of the remaining
he spends 9.09% on clothes. If his remaining salary is 2500. Find his spending

on food and transport.

Udld 394 dd- BT 45% HIolH 3R gkdgd gz ad $Hdl o | }Y H I 98 9.09%
HUS| U 4 HIdl o | dia IGDHT Y dd- 2500 g, dl HISH 3R gikdsg Uk 39D

g JTd HIfoIg |

3500

2250

4000

7200
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Shiv covers a distance of 18 km in 54 minutes at a certain speed and Jay
covers the same distance in 40 minutes. find the difference of their speeds.

fRra uep FfEra =1 4 54 fe 7 18 fohwt o1 G 70 B © iR 577 40 fre
JHH 3 dg Hdl g | 3-D1 Il I 3R JTd Do

7 km/h

8 km/h

9 km/h

11 km/h



Up Lekhpal /Up Constable Daily Live Maths Classes At 01:00 PM

200 is divided into two parts in such a way that one-third of one part is 72 less
than the other. Find both the numbers.

500 1 &l YT H g8 UbR fauiford fdbar Sirdr € fd ua wit &1 uab fders gar o
72 ¥ gl &Il A3 &l JId DIfou?

321, 176

321, 179

394, 106

372, 128
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A pump can fill a tank in 10 hours. But it takes 18 hours to fill a tank due to
leakage. In how many hours leakage will empty the tank

UH U010 9 H UPH ¢h Y ghdl ol fdhd 9 & PRUICPH I Y1 T 18 ©c
ST 99 ddl o | foda 9¢ d g I S Grelt gl SieTl

22%h0ur3
26%hour3

32%hour3

24%hour3
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A and B can separately complete a piece of work in
20 days and 30 daysrespectively. They worked together
for some time, then B left the work. If A completed
the rest of the work in 10 days, then B worked for

A 91 B Tordlt sh1d ohl 3TTT-3Ta7T Sha9l: 20 T3 91 30
feT o QU T Thd | S84 /D 99T d% U 91 faceny
w1 fohar, aoe=q B & BIgshd Il 01 Afs 99 i
% A 10 Ta 7 qu foan &1, @t B A foraa 9 % =
fem=m?

(1) 6 days / &= (2) 8 days / &=

(3) 12 days / f&= (4) 16 days / &=
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A can do a piece of work in 20 days which B can do in
12 days. B worked at it for 9 days. A can finish the
remaining work in

A TF & 20 fedi § & 9ahar 2, 59 T B 98t &1 12
feqi & X "eha1 21 B 7 a8 & saa 9 Tl do fom,
39k a1 A 3 K fhad Tl 5 qU s weRm?

(1) 5 days / T&A (2) 7 days / T&A

(3) 11 days / T3 (4) 3 days / f&A




